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PHYSICAL GEOGRAPHY
Time Allotted: 2 Hours Full Marks: 40
The figures in the margin indicate full marks.
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1. Answer all the questions: 1x5=75
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SECTION-II / fReia-4 / @vs-2
Answer any three questions from the following 5x3=15
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2. Briefly mention the characteristics of earth crust. 5
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o] Give an account of different types of Fault.
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4, Briefly discuss the structure of atmosphere with suitable diagram.
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Sl Discuss the factors responsible for the formation of cyclone.

HigEeH {Ea el 3 31

AehaTel Dl YR Y RFNaR BRSewH! Ta] T |

6. Briefly discuss the causes of Sea Level Change.
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SECTION-III / fReiat-1t / @vs-3
Answer any fwo questions from the following
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e Discuss the Continental Drift Theory by A. Wegner.
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8. Describe the erosional landforms produced by river. '

TR TSI T AP i afa w1

e GRT IR SRUI--FTewDHT IRAT U ey |
9. Describe the different types of precipitation with suitable diagrams.
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10.  Discuss the coral reef formation theory of Darwin.
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